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1. Sketch a complete graph of f(x). Remember that your graph is the
solution, so show appropriate detail including the coordinates of all corner

points. L
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2. A company manufactures two types of leaf blowers, an electric model

and a gas-powered model. The company’s production plan calls for the
production of at least 590 blowers per month.

a.) Write an inequality that describes the production plan for x electric
blowers and y gas-powered blowers.
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b.) Sketch a complete graph. Remember that your graph is the solution, so
show appropriate detail including the coordinates of all corner points.
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3. The rate of photosynthesis R for a certain plant depends on the intensity
of light, x in lumens, according to R/(x) =280x —70x>. )
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a.) Whatis theeded to maximize the rate of photosynthesis?
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b.) What is the maximum possiblf photosynthesis?
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c.) Find the x-intercepts. ¢ Rlc #5
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d.) State the meaning of the x-intercepts in the context of the problem. ’
0, 0 . . ] -
@ (lﬁ 1 l) | UJ\W a \l(jh_\- N JteVl\S\'H o‘G’ O Oﬂ
i G Tode | ; .
e srthess | 4 lmens | e glont 15 0oF
conducxag grotoSynthess.
(HID\ J
TS ade
intest  Protosyn
4. Given f(x)=>5x"+9x-3. Find the vertex algebraically. )
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5. Given f(x)=12x*+13x—4.

a. ) Find the x-intercepts by a method of your choice.
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b.) Find the x-intercepts again by a different method than used above.
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6. Show a complete sketch of the graph of f(x)= {\E ~4 <l N
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7. The table below gives lawnmower rental rates as a function of the
number of hours the lawnmower is rented.

Number of Hours 1<x<2 | 2<x<4 4<x<8

Rental Rate 16.69 25.20 33.71

a.) Complete the equation that models this problem.
. b9 ;1<x<2

f(x)=425.20 ;2<x<4
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b.) Show a.complete sketch of the graph.




